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Distinguished between partnership and
company.
GEER] Td B 6 7oy WE WL DS |
Discuss the major problems of Indian
agricutture.
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Discuss in brief the impact of globlization
on Indian Economy,
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Section - C / @Evs - ¥
(Detailed Answer Questions)

(Fersager Forlra w191)

Mote : Attempt any three questions out of

the following five questions. Each
question carries 20 marks. Answer is
required in detail. 3x20=60
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What do you mean by Land Reforms?
What steps have been taken place by
government of India in this regard?

Discuss.,
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. 5lckness? Explain its causes

“in Indian econom
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what do you understand by 1ndustnal

and remedial

measures also. \ |
eS0Tl A gy e wfhura @2 §Hd
g BHRT 0d UR ¥ gy o @agal
D-IS{IUSS the main features of new export:
import (EXIM) policy of India and cntically
evaluate it. hupa'.-'"u.'ww,ccsus-;tudy.cum _
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investment n India multinationa
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corporations desirable 101 Indiar

scenario.
Economy at present \bLLp 3 | |
Ul R ECLUC R 3 ag?rr@?
Ermt & ATdTA & frdraen i) 1 33 @
ofgea # ARG o AT AT ©
fap arEa 272

NS-3352/4

https://'www.ccsustudy.com



A (Printed Pages 4)

(20622) Roll No. ... .
B.A.LL.B.-11 Sem. :

NS-3352

B.A.LL.B. Examination, June-2022
ECONOMICS - 1I

(Economic Problems and Politics in India)
(BL - 2004)
(New Course)

lime : Theee Hours | [Muximum Marks @ 100

Note : Attempt all the Sections as per

instructions.

Ae: gt w@ozi o FearEr & Sifsa)
Section - A/ @Ug - 3
(Very Short Answer Questions)
(3t o1g 3o oe=)
Note : Attempt all five questions. Each
question carries 4 marks. Very short
answer is required not exceeding 75
words. 4x5=20
A ol ore rEE B IR AR T T 4
3 &1 21 fuman 75 I A A 7Y I

sfdr 1

1. What do you mean by Structural changes

P.T.O.
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in economy? Give examples. 5 wn
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‘Fqﬁm" & e A of Indian

2 write the three features

agriculture. "
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3 Write the five names of Tra
India. | |
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(Short Answer Questions)
(e1g IR 9 .
Note : Attempt any two guestions 0Ou
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